XV-109 004-004106

M.Ed. (CBCS) (Sem.-I) Examination
January -2015
Statistical Method for Data Analysis

Faculty Code : 004
Subject Code : 004106

Time : 2Y2 Hours] [Total Marks : 70
YAl (1) 12Ul Yol G HElMR %331 delal Aulel a@vil.
Instructions : Do as directed. Answer to the point with necessary calculations.

(2) VU AviLRLAL OJRL SIUAlML H1asl.
Marks will be deducted for irrelevant answers.

([@euar — I/ Section -1

20
(1) % 6=6,N=100, ¢l dl el [aaad-dl uHel @ =
If 6 =6, N =100, then standard error of SD =
(a) 0.6 (b) 04
(c) 0.06 (d) 0.04

2)  NAAiell sy Yot duAe 2y 54 ?

(a) U-5l8l (b) F-sulél
() 2 suldl d) t-suldl
Which of the formula is presented by Gosset ?
(@) U-test (b) F-test
(c) x> test (d) t-test
0.786G6

(3) JN =____
(a) oo (b) oQ
(c) oM (d) oMdn

(4) % df =400 €14 dl 0.01 58U t Y& =
If df = 400, then t-value of 0.01 level is
(a) 0.196 (b)y 1.96
(c) 2.58 (d 2.85

004-004106 1 P.T.O.



(&)

(6)

(7)

®)

)

(10)

b-C b+C
@ \[x° b) [

b— b
© \/’x @ \[x

1 1

@ \/N1+3+N2+3 ®) \/ N, +3 N+3
1

© A\IN,-3 N,+3 ) 1—3 N2—3

A2Aunioll s34 viAdd A4 9 ?

(@) [aenldl o3l (b)  [qandll Aval

(¢) [aendld au- (d) [(aaudll Gl
What of the following is discrete variable ?

(a) Thickness of student (b) Number of student
(c) Weight of student (d) Height of student

519 a0l 5L Wlsdl D= 5 MU seuMl eld ¢ 2

(a) ida (b) 2Rl

(c) o (d)  gsu

What of the following is measurement scale the data in chi-square test ?
(a) Interval (b) Ratio

(c) Nominal (d) Ordinal

AlAAiell 54 s Yyl sulld @iy ul ?

(@ Ruls sadl (b)  Al[AHULRUAL sALE)
(c) [Rel suldl (d) Asuel e
Which is resulted one tail test ?

(a) Achievement test (b) Aptitude test

(c) Diagnosis test (d) None

AQ-240L Al WAL Haaalll »is o sl wlsdl sa usiRl uledl © ?

(a) usAeiltd (b) Aot

(c) (a) 1 (b) o (d) suel s

Similar information received from different group is which type of information ?
(a) Correlated (b) Uncorrelated

(c) Both (a) & (b) (d) None

004-004106 2



N

(11) AHARRL a5l 558l 9.
Kurlosis of Normal Probability curve is

(a) 0.236 (b) 0.326
(c) 0.632 (d 0.263

(12) oA PE AL Aol ¢,
(a) o©=14862PE (b) o©=1.8462 PE
(c) o=14826PE (d)  sul &l
The relation between ¢ and PE is
(a) o=1.4862 PE (b) o©=1.8462 PE
(c) o©=14826PE (d) None

NN

(13) el Avul a8 du valdAl auLe a4 2|
(a) drl ULl (b) Rl ALY
(©) (a) 1 (b) ol (d) isuel gl
As the number of vehicle increases the petrol consumption is increases is a

(a) Positive correlation (b) Negative correlation
(¢) (a) & (b) both (d) None
(14) HHHUIRBL A0 SV YBL 58 9.
(@) oU3 (b) uu
(c) ol (d) ouA
Normal curve is also noted curve.
(a) God (b) Gol
(c) Goal (d) Goss

(15) 2A-Hiedl s34 4oy [@Q3udid, siel 9 2
(a) uFlald AAAA GRIeR A Y el
(b) [nael sl wo 2y ¢lu
(€) U 243 &ld
(d) UUR AW &lU
Which of the following is cause of Positive skewness ?
(a) If the administration of exam note done properly.
(b) If the educational work is done well.
(c) Paper is easy.
(d) Paper is hard.
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(16) 2AHiedl 54 Aol HIE A1 9 ?
(@) ol Al 922 2qHIA elid
(b) ol Adl 9L 20l 52
(c) s A udl oflon A4 el
(d) U ARlAHiel 25Ul Al
Which of the following is true for the correlation ?
(a) Infering between two variables.
(b) To predict between two variables

(c) To know the variable from other one
(d) None of the three

(17) K=0.63 ¢ld dl yalgult gédl »is 2.
If K =0.63, then the coefficient of forecasting of efficiency is
(a) 043 (b) 3.7
(c) 43 (d) 0.37

(18) r-ll 59 Bud eld R ol [Hudeit axls0ll vl A1 9 ?

Which of the value of r when two regression equation become equival ?

(@ r=0.5 b) r=-05
© r=1 (d r=-1
(19) r=0.70 12 [(Rafei 2is ¢9.
For r = 0.70 the co-efficient of estimation is
(@ 49 (b) 0.49
(c) 49 (d 0.049
(20) AeAcigisdl 20Ul 1AL HY dZlS A ALl U €9,

(@) [Ralzei 2is

(b) [HarRe 215

() AsHBL s

(d) yalqHid saidl-l »is

The measure of predicted coefficient of correlation is considered as
(a) Coefficient of estimation

(b) Coefficient of prevent

(c) Coefficient of alienation

(d) Coefficient of forecasting efficiency
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([@euar - II/ Section — 11

1. el 2uden of wadl UsL siduel aisl ool o33 alRld] e AL 12
Answer any one from following with necessary calculations :

N\

(1) -2 2ude >ug9f [Adzer ur a1aRe el atsael »uffd >ugltatel el
N =100, 45 = 54.4, WH1RL QA = 8.45.

:‘f{“g 70-74 | 65-69 | 60-64 | 55-59 | 50-54 | 45-49 | 40-44 | 35-39 | 54
2ugft 4 6 16 28 20 12 8 6 100

Arrange the expected frequency on given below frequency distribution. N = 100,
Mean = 54.4 and Standard deviation = 8.45.

(S:iziz 70-74 | 65-69 | 60-64 | 55-59 | 50-54 | 45-49 | 40-44 | 35-39 | Total
frequency 4 6 16 28 20 12 8 6 100

(2) ulRetn dRisiR al deioi el A veHend s

a3 | 40-49 | 50-59 | 60-69 | 70-79 | 80-89 | 90-99 | s4
40-49 3 5 4 12
50-59 3 6 6 17
60-69 1 4 9 5 2 21
70-79 5 10 8 24
80-89 1 4 6 5 16
90-99 2 4 4 10
54 7 15 25 23 20 10 100

Calculate product moment correlation and interpret it.

X 4 | 40-49 | 50-59 | 60-69 | 70-79 | 80-89 | 90-99 | Total
40-49 3 5 4 12
50-59 6 17
60-69 1 4 9 5 2 21
70-79 5 10 8 24
80-89 1 4 6 5 16
90-99 2 4 4 10
Total 7 15 25 23 20 10 100
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2. A 2uda AL wadl WSl sidurt oAl ool 331 oeLdl Ul Al
Answer any two from following with necessary calculations.

(1)

(2)

(3)

ol sALEUAL Mledl A »udl ¢ -

dpudly [leely |[R
AAAZL (M) 50 44
w.[d. (o) 6 8 0.6
Data of two tests are given below :
Gujarati x | Hindi y Rx.y.
Mean (M) 50 44 0.6
Standard deviation (G) 6 8
() Wwdis 3udl [Rad el lsel Hoal.
Obtain the regression equation in score form.
(b) ysud owudlil 58 9RL HOL dl drl (8-l 9L (49l i otidl.

Y3l ddlAl 98l 58 9. [EglHi d-l AcfAd IR MLt $2U.

If Mukesh gets 58 score in Gujarati, then estimate his score in Hindi.
Mukesh Score in Gujarati is 58. Estimate his probable score in Hindi.

500 (aenell>Aiqa dudl iy aidaia sull sudiHl 2udl d-l 1s 102.5
i UMLRL (AU 25.8 ©9. 0.05 2 0.01 sal AHR2 Hesdl [Qea -l
U4l

Gujarati Language silent reading test were given 500 students, its Mean = 102.5

and standard deviation = 25.8. Find the confidence limit of mean of population at
0.05 and 0.01 level.

AHAIRRL A5UALAL RIAHL AUl
Describe the characteristic of Normal Probability Curve.

3. <Al 2uda AR wel WSl siduel AL el %331 ARLd] 0 2l ¢
Answer any three from following with necessary calculations.

(1)

YURRL-1TAL ¢9LSAMAL Vi 915T12AA 215 2AlMALUAL sALEL 20U Hadal Uidist
A2yl ¢

vyl AN | ALl [Quad
OLsAAAL | 200 105.3 22
9I5| 300 109.7 21.8

Lyl 2is AldMi [Qenell>al alzaidl © 214 581 asy ?

The Arithmetic Aptitude test was given to the Boys and Girls of Std. 11 and the
data of the Score given below :

12

12

Numbers | Mean (M) S.D.
Boys 200 105.3 22
Girls 300 109.7 21.8

Can we say that Boys are greater in Arithmetic Aptitude test ?
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(2) 5 2ugl (el 1R 112.50, Py = 135.20 244 P = 92.80 sl dl i

[aczelAl [a3udidl usiz sél s
In one frequency distribution Median = 112.50, Py, = 135.20 and P, = 92.80,

then find the type of skewness of frequency distribution.

(3) s [adud sidwi 400 (qenelaiiql Heddl 62% (aenll>l uye wid-i-ll
AR RHL edl. Aufe-l [Qenedl>l aye wel-u-dl drsaul 9. 23 Sedl (sl
56l Asly ?

62% students out of 400 students of sample of one Art’s College oppose the
general prayer. How can we say oppose of general prayer with confidence of
students population.

(4)  BUs3lHl HuA-l saull quil A sLouRL ol yxendl.

Write the levels of measurement in statistics and describe any two of them.

4. <A A A UsALAL gL $5UL AUl
Answer the following in brief.
(1) agldlcis Ais31aUaL 9 9 ?
What is Descriptive Statistics ?
(2) WA ved g ?
What is Parameter ?
(3) W AdvU)l ved g ?
What is Degree of Freedom ?
(4) 519 s YA Geseusil Qvil.
Write any one Null hypothesis.
5) R asv ed g ?
What is Bimodal Curve ?
(6) VAdd A4 ed g ?
What is Discontinue variable ?
(7)  ueAGiAd Hlsdl g o ?

What is correlated data ?
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